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QUESTION 1

A storage administrator created a LUN using two ports on a storage system. Later, additional LUNs were 

added to the same node as the original LUN. After a while, the performance of the original LUN dropped 

beyond an acceptable level. 

What would you advise to remedy the Issue? 

A. Add an additional switch between the hosts and cluster. 

B. Add new LIFs on unused ports. 

C. Add new LIFs on the used ports. 

D. Reduce the queue depth on the used ports. 

Correct Answer: B 

 

QUESTION 2

You will be purchasing two high availability NetApp AFF A700s systems. You want to set up a 4-node cluster. Which
switch would you use for the cluster interconnect switches? 

A. NetApp CN1610 

B. Cisco Nexus 3132Q-V 

C. Cisco Nexus 5548UP 

D. Cisco Nexus 5020 

Correct Answer: B 

 

QUESTION 3

Which two are supported in ONTAP 9.5? (Choose two.) 

A. an NVMe LIF and an FC LIF in the same SVM 

B. an NVMe LIF associated with an FC Direct Connect port 

C. an NVMe LIF and an FC LIF associated with the same port 

D. multiple NVMe LIFs in the same SVM 

Correct Answer: CD 
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QUESTION 4

A customer has an FC host that needs to be attached to the NetApp AFF A700 dual controller storage cluster. 

To accomplish this task, which three steps should the customer perform? (Choose three.) 

A. Configure the FCP service for the node that has the LUN that is being accessed. 

B. Confirm that the FC HBA driver and firmware is supported according to the Interoperability Matrix Tool (IMT) 

C. Configure portsets to support the availability of multiple paths. 

D. Configure an igroup with the WWPN from the host initiator for LUN access. 

E. Confirm that the switch firmware is supported according to the Interoperability Matrix Tool (IMT). 

Correct Answer: CDE 

 

QUESTION 5

Click the Exhibit button. 

You have an existing 2-node AFF A300 cluster with premium bundle licensing applied. You need to have consistently
low front end latency, and have determined that NVMe satisfies this requirement. 

Referring to the exhibit, which two actions would accomplish this task? (Choose two.) 

A. Add a UTA2 adapter to each of the two AFF A300 nodes. 

B. Add a 32 GB FC HBA to each of the two AFF A300 nodes. 

C. Apply the license for FCP. 

D. Apply the license for NVMe. 

Correct Answer: BD 
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